(Petersen Graph) e i 1,5

1935 (50 ) 31 ©ygo 4 &5 Canl i =3 9 (ol 10 L (FI,5 (o iy SIS

bl (lgi (o0 ) Wyguo A iy SIS L e SO sl w90

Ladl 4y 395 (gl )0 g ouisl (gl b 50 aidl a8 Wil oo i (6,590 (plss SDlo oy SIS

RO PN ST PVSIUT-S JC J01 LS Y PO V. JXVS PESPN By

Sl ) oy Ky OB1,5 a0 (498 (o0 iy SIS (oL 51 el jo JSb (69 31 olgF (o0 4g5 oloa



( M w‘)“’ “‘9|)§ S JL‘)‘C‘ )‘ u‘l-\-"-" 9 B> ‘o)f LY ugL_g,] w)_”
oo (LK )k, b 1,5 45 5,5 spalys calf o005 olgie &4 b sl 1,8 &y by o ik 0

R ‘_,.m)...’g_sl)f



